DESIGN
SCIENCE & TECHNIOLOGY

CLASS-VIII

A. Design of Question Paper

Section Type of Question | No. of questions| Marks per question| Total Marks
(i) MCQ 16 1 16
A (i) Assertion-Reason 4 1 4
B Short Answer [ 6 2 12
C Short Answer II 7 3 21
D Long Answer 3 5 15
E Case Study 3 4 12
Total 39 80
B. Weightage to Difficulty Level of Questions
S.No. Difficulty Level % of Marks | Total Marks
L. Easy 25% 20
2. Average 60% 48
3. Difficult 15% 12
Total 100% a0
C. Weightage to Thinking Skill
Knowledge = 36% 28 Marks
Understanding - 40% 32 Marks
Applicatiﬂn = 25% 20 Marks
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D. Sections
The question paper has 5 Sections : Section A, B, C, D and E. Section A has 20

questions, Section B has 6 questions, Section C has 7 questions, Section D has 3
. questions and Section E has 3 questions.

E. Scheme of Options
. Note : There will be no overall choice in the question paper, but there will be an
internal choice in 1 question of SA I type, 1 question of SA II type and 3 questions

of LA type. The Case Study questions contains 5 very short answer questions
(VSA) of 1 mark each, out of which only 4 are to be attempted.
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SCIENCE AND TECHNOLOGY

Time allowed : 3 hours Maximum Marks : 80

General Instructions:

1,

The question paper comprises five sections — A, B, C, D and E.
There are 39 questions in the question paper. All questions are
compulsory.

There will be no overall choice in the question paper, but there will
be an internal choice in 1 question of Section B, 1 question of
Section C and 3 questions of Section D. Each case study question
in Section E contains 5 very short answer questions (VSA) of 1 mark
each, out of which only 4 are to be attempted.

Section-A consists of 20 objective type questions ( Q. No. 1 to 20),
carrying 1 mark each. These questions are MCQs and Assertion-
Reason questions.

Section-B consists of 6 very short questions (i Q. No. 21-26), carrying
2 marks each.

Section-C consists of 7 short answer type questions (Q. No. 27-33)
carrying 3 marks each.

Section-D (question number 34-36) consists of 3 long answer type
questions carrying 5 marks each.

Section-E (question numbers 37-39) consists of 3 source-based | case-
based units of assessment of 4 marks each with sub-parts.
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Section-A ( E'Ts'-il?.)

(Select and write the most appropriate option out of the four options
given for each of the questions 1-20).

(W 1-zoﬁﬁmﬁ:ﬁmﬁr@mwﬁaﬁzﬁﬁﬁm@r3ﬂgﬁﬁm
o W oedn fed)

L Ananya is living in a densely populated hot and humid area, having
stagnant water bodies like ponds and puddles around her home. She
might suffer from : (1)

(a) Malaria and dengue (b) Malaria and Tuberculosis
(c) Dengue and Ringworm (d) Dengue and Mumps

mqﬁaﬁmmﬁﬂﬁaﬂtmmﬁﬁrﬁ%.aﬁmmﬁ?m
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Analyze the data given below to give the temperature at which

lactobacillus is most active :

Temperature in degree centigrade Beaker
at the time of mixing curd with milk
35 A
50 B
5-8 C
42

(a) Beaker A and Beaker B
(c) Beaker A and Beaker C

(b) Beaker B and Beaker C
(d) Beaker A and Beaker D

g8 T9EE 9q9M & fau e R e 2w = favem w5t fig w SeeEfaeg
wad sfus gfea 2

79 ¥ I e www amome ElC Ty
feit ¥dhre #
35 A
50 B
5-8 C
42 D

(a) Beaker A and Beaker B
(b) Beaker B and Beaker C
(c) Beaker A and Beaker C
(d) Beaker A and Beaker D
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Select the situation that does not work on the existence of atmospheric
pressure. (1)

(a) rise of iodine solution in the glass tube of dropper.
(b) rise of cold drink in a long plastic straw.
(¢c) sticking of suction hook on the wall of a room.

(d) rise of mercury in glass tube of thermometer.

0 feifd &1 I w St agren @ & s W wm T8 w5 i
(a) ST H HE H Jot § TR faema #1330

(h) WRF & o4 & H #ee fGF 1 @7

(c) M FH TEAR W RN §F H faus o

(d) TUAM W B FHI AN F UL FT FE@

In a large commercial complex, there are four ways to reach the main
road. One of the paths has loose soil, the second is laid with polished
marble, the third is laid with bricks and the fourth has a gravel surface.
It is raining heavily and Reena wishes to reach the main road. The path

on which she is least likely to slip is : (1)
(a) loose soil (b) polished marble
(e) tiles (d) gravel

TF w2 gfufege URER ¥ YOF WEH @ TEd % WX TW € Ui o
U uF § el foed &, g W Uife §REOR % WY @ TR, det
F TEeE (Tiles) & @Y T@ T € o g & a5l *1 §gag 1 ard i
w2 st G g wER W AT W 41 W TR W 3w fewen
H gurga ey #W &, 98 o—

(a) dreft fgzd (b) difeTel HHE
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5. The incorrect statement among the following 18 : 5 1
(a) A matchstick can be lighted by striking its tip on a roug Surfae, |

(b) Diesel is a combustible substance.
(¢) Glass has low ignition temperature.
(d) The substance which vaporize during burning gives flame.

frafafes & 4 mom Fuw 2

() wifew #1 it # Aw H et GEd FAE W AH AN T T, |
b) oA & e @Y 3

(c) ®¥ F HoM AWH FH T |

) T wd St woR % P adgd @ 2, saEn W d

6. Aray of light first goes from A to B and bends away from the normal, it |
then goes from medium A to C and bends towards the normal. What can |
you say about the optical densities of medium B and C ? (1

(a) Optical density of B is more than C

(b) Optical density of C is more than B

() They both have equal densitieg

(d) The optical densities of the two mediumg cannot
TERI F fF s A Y B g
B mem Ad C 9 an STTeft

be compared |

© 37 #
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A ray of light travelling in water falls obliquely on the boundary of a
parallel sided glass block. The ray of light : (1)

(a) is refracted towards the normal.
(b) 1is refracted away from the normal.
(¢) does not get refracted.

(d) is reflected along the same path.

T H AR S TR w e gue wey st & owE Ft
dm w e wd ¥ v # fawe

(a) W 1 AR uEldd B T (b) W § [ avalda @t g
(c) *afdd &l =Idl (d) 3§ vg W wfafefag @@ 2

Rohan’s grandfather was neither able to read the newspaper nor the
signboard on the road. The doctor suggested him to use spectacles for his

better vision. The type of lens/lenses must have been prescribed by the
doctor : (1)

(a) two concave lenses of different focal length
(b) two convex lenses of different focal length
(c) Concave in the upper part and convex in the lower part

(d) Convex in the upper part and concave in the lower part

Ted & el 9 @R T8 U ¥ IR A € §eF W A §Eas)
TR ¥ 3% dem gfe & fau 9vn @ # e fom deetd W owen
W e g fauife fEa S =feu-

(a) fafe= wrFe @aE & 3 Faaa ©¥

b) faf= wiea @ & A I9@ @9
(0 wul wm § s@da @R fEe WM H I
@) wuf 9 o Iva R frEe wm d s
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10.

11.

' & R LE* N Fugy v wi
LA ! L L LE h-‘ e l.‘ﬁ'ln‘ 11

The velocities of sound waves in four mEdiﬂ_ﬂﬂﬂlEl_? A, B, C anq
1800 m/s, 900 mv/s, 0 m/s and 1200 m/s respectively. Out of the four

the one that could be a liquid medium : (1)

(a) A (b) B (e) C (d) D

9% N A, B, C 3R D H w@&f @ & am 1300n1;5900w
nwssfnlzuunﬂs%muwzﬁﬁmﬂﬁaﬁﬂmmmmﬁm

t:

(a) A (b) B (c) C (d) D
The incorrect statement about synthetic fibers is :

(a) They have high tensile strength.

(b) Unlike natural fibers they absorb sweat.

(c) They are not biodegradable.
(d) They are easy to clean.

ﬁm*ﬁ%ﬁﬂﬁﬂﬁaﬁm%_
‘-ﬂjwmmwﬁaﬁ?ﬁ%.
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Wood pulp is used tq Prepare
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12,

13.

The repmduc?;ive pattern in which parents release sperm and eggs into
the surrounding water for fertilization to occur is : (1)

(a) internal fertilization and external development
(b) internal fertilization and internal development
(c)r external fertilization and external development

(d) external fertilization and internal development

T YA fowd ww-fr friem & fow e ok o w1 smw
F U A Bied ¥ Tw 2

(a) Ml foe ok am fommm (b) TR Favedt o S faem
() & f¥=m ik smr fomm (d) @ feA 3 safes e

Given below are events that lead to the formation of an egg in hen.
Arrange the given events in a proper sequence. (1)

(i) fertilization and formation of zygote.

(ii) sperms are passed from the male into the female body.

(iii) development of embryo inside the egg followed by hatching of an egg.
(iv) formation of protective layer around zygote.

(a) (iv), (1), (i), (ii) (b) (1), (iv), (iii), (ii)
(e) (i), (1), (iv), (i11) (d) (i), (iv), (1), (i1)

44 4 wead € W & o FRw gt F o w1 feiw gem f w weei
& 3fad @9 ° @ w1-

@) FwAs 1 F=A e fmio

(i) YEore 1 TEW | Higem F WR H AW w0 S 2l

Gii) 32 & AR YO F faww N IeF A\ AT weAl

(iv) g & TR AR TR w@ F:

(a) (iv), (i), (ii), (i) (b) (i), (iv), (iii), (ii)

(¢) (i), (1), (iv), (1) (d) (i), (iv), (1), (i1)
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14.

15.

16.

SR TR R R B e R

Amit and Aarna are blessed with a baby girl. The chromosome that

decided the sex of the baby, will be : (1
(a) XX (b) YY
(c) XY (d) Autosomes

afim ik R ¥ wE 3 W W R B TRE ST H: fon g
HUT, FE EM-

(a) XX (b) YY
(e XY (d) IferETE

Some children get acne and pimples on the face at the time of adolescence,

(a) Due to increased activity of sweat and sebaceous glands. (1)
(b) Due to increased activity of estrogen.

(c) Due to increased activity of pancreatic gland.

(d) Due to increased activity of the pituitary gland.

FT T W R % AW W W Fe-geR 8 W f
(a) qﬁﬁﬁtmﬂm?ﬁﬁﬁﬁﬁfﬁ%ml

(b) TEIH FT WEHA qGH F HRO

(c) =M™ UM =1 Wfwa@ 983 & =

d) gl 3f9 1 wfram aed & s

When electric current is passed through a liquid
when the same current is passed

Identify P and Q.

‘P, bulb glows. But
through liquid ‘Q’, bulb does not glow:

(1)
(a) P-Distilled water; Q-Lime water (b) p.pime juice; Q-Vinegar
(c) P-Vinegar; Q-Vegetable oil (d) P-Glycerine, Q-Distilled water




59 R YA W T P R W W R, @ aed a1 ofFd e
SH YW R 3@ QA varfen fewm s § @ wew dra W@ g P oan
Q ¥ TEwru—

(a) P-3Tga w&; Q-Afg =1 w (b) PAfg w1 w@; Q-faw

(¢ P-fae; Qavmfy = (&) p-fremdE; Q-amgR W

Note : For questions 17 to 20, two statements are given—one labeled Assertion
(A) and the other labeled Reason (R). Select the correct answer to these
questions from the codes (a), (b), (c) and (d) as given below :

(a) Both A and R are true and R is the correct explanation of Assertion.

(b) Both A and R are true and R is not the correct explanation of Assertion.
(c) Ais true but R is false.

(d) A is false but R is true.

o R W 17 W 20 & fow A e Rum E w4 T (A) I @
4 R0 (R) Wige €1 @ v & fow d= Ru M #E (@), (0), (@ 3R (@)
3 W T -

(a) A 3R RaM W § @ik wrw, fawed w1 wd =rem

b A 3R RIE ww € i Fnw, e #t 9d sen T R

(c) A ®m & @fFd R Tew 2

d) ATew & @f¥1 R ¥9 ©

17. Assertion (A) : Kabaddi players rub their hands with taleum powder for
having a better grip on their opponents.

Reason (R) : Talcum powder reduces the force of friction. (1)

R (A) : Fagel faoEdl @ fifudl | sem wHE W@ & fau
a3 well B Yeww TR ¥ TR R

W(R)_:imwﬂmaﬁﬁﬂmar{mE
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18. Assertion (A) : With the decrease in time period, frequency INCreagg,

Reason (R) : Time period and frequency are directly related to eaq
other. Q

W(A}:wmﬁrﬁﬁﬁmﬂ.maﬁﬁ%a
Wm}:WﬁﬁlaﬁTaﬂqﬁﬁﬂ@iﬁwm%I

19. Assertion (A) : Plastic bucket is non biodegradable.
Reason (R) : It does not decompose through natural processes and take
a very long time to degrade. (1)

sifvwas (A) : wfes F aed R aEfeiad 2

HROT (R) : T8 WFfaw wieras & meam @ faufeq 72 e @ sl fowf
eH H Wgd @& 9HY ol 2l

20. Assertion (A) : When a bar magnet is kept stationary near a circular
metallic wire, current flows through it.

Reason (R) : Electric current is induced in a metallic wire due to the
change in the magnetic field near it. (1)

ATFIT (A) : T9 TF B 9% F UF qOFR UG F 9K & 79 R
@ S #, 9 399 ¥ wearEd e 2

HO (R) : T8 g & TR & foe & guatg a3 § ofady & &
Iqd fagga a0 dfw w6 2

Section-B (@3z-w)
(Q. No. 21 to 26 are SA. I Type questions)

21. Element A is soft, brittle and does not s
hard, malleable and ductile. Baged on th

the following questions.

conduct electricity. Element B 18
€ information given above, answer

1

(a) Which of these two elements, A or B is a non-metal ?
- E I3

(b) Name any one alloy of a non-meta), Also, write its composition. (2
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23.

aE AW, WR % o faweh ®1 geweR A w@ #1 a@ B FeR,

s R TR ey A #) s & T S % R ® e

oAl & IW gifeu-

(F) T 7@ AT BY ® B W T UG 7

(@) fodt s @ Fftfa et o fasog @ AW SAEQ @S A
fafau

OR ( a19arn)
Differentiate between metals and non-metals on the basis of the following:
(a) Sonorosity | (b) Melting point
freffefiad O % YR W uig U Sy W SR SR
(F) TERITE (@) TS
Give a reason to justify each of the following : (2)

(a) If the clothes of a person catch fire, the person should be immediately
"wrapped in a thick blanket.

(b) No one should be allowed to take any burning material within the
premises of a petrol station.

dfa 23X F FRU FATA-

(%) afx Fedt sfR % FUE 4 oM WM W @ IW W A AR
Faa § o & FIMeCl

(@) ﬁﬁaqﬁ#vﬁmﬁﬁmﬁaﬁﬁaﬁeﬁgﬁméaﬁaﬁwﬁ
w § W =

Give reason for the following : (2)
(a) People living next to railway tracks, know well in advance about an
approaching train, even when it is out of sight.

(b) During rain, thundering sounds are always heard a little later than
the flash of lightning.

frefafaa 1 RO FARE-

(&) hﬁﬁ#m@ﬁ@ﬂaﬂmﬁaﬁﬁaﬂﬁaﬂﬂﬂﬁﬁ
& g e &, @ W qE TR 9 SE

(@) wfw & A, TETEEE F AW T fawe ®oaww wiogen
A o X AR G A e
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24. Two threads A and B of same length are suspended from the clamp of an

25.

26.

iron stand in such a way that their one end hangs freely. A pan is
suspended at the free end of each threads. Now weights are added in both
the pans until the thread breaks. It is observed that thread A breaks
earlier than thread B. Based on the above information, answer the .
following questions. (2) -

(a) Which thread has greater tensile strength ?

(b) Write any one characteristic feature of the synthetic fibers other
than the one mentioned in the above question.

B TEE % 3 UM AR BH W@ & We & Y 9 T WE AHME
T R fE umt @ uw fow s w9 9 wew WM % gE fR W
TF U wewmE W@ R oM@, uni & w2 aw ¥ ¥ aw sen W 3
TE @ T fF a4 A WM BR wed w2

mmﬁmﬁsmmﬁwﬁf@amﬂ?mﬂﬁ&
(%) 59 um =+t 79 whm sfus &7

(@) e v 4 Sfeetan % o R T v Pl
ford

The term metamorphosis is not used while de

scribing hum
— an development.

(2)

the disease he is suffering from and give th
€ cause of the disease. (2)

ﬂﬁ'&?ﬁmﬂﬁwmﬂim-@mm-



21.

28.

29,

Section-C (@Z-7)
(Q. No. 27 to 33 are S.A. II Type questions)

(a) What happens when sulphur dioxide is dissolved in water ?
(b) How can you check the nature of product formed in the above reaction?

(¢) Write a balanced chemical equation for the reaction. (3)
(%) @ Foh TEaleORs Tt A wfefew s & A @ e @2
(@) ¥ IWF a4 1 3R 31 75 = A FY = g D
(M) IWH wfEm & fou Wit weEtE wwm g

Complete the information given below : (3)

The (a) of gold is expressed in terms of carat, The Carat
number gives the number of parts of gold present in (b) of a
mixture of gold with the other metals. Gold and platinum are called (c)
because they are not (d) affected by the
substances around them. Pure goldis(e)___ soit is-often mixed
with (f) make it hard for making jewellery.

o T o @ s

1 # (a) F HE F T = B W 2 wEm
9 UGl & A A (b)) Tasm F Ag W F 9wl w5 gen
Fad B G o wWfem H (0w W € e 3 e

saug % wwel ¥ () wafam T w1 oy W

(e) g & i W@ I T % feY W weR T &
fo st () % W faamn s @)

In the game of badminton, friction can be a good friend as well as a
trouble maker. Give any three points to support your answer (at least one
point as a friend and one point as trouble maker). (3)
efin & o9 § T TF FW TW F TI-TY @ W T @
T @ @ s # d IW F wwe § # dm fiy g (aw @
mmﬁgﬁ'ﬂﬂwmﬁmwﬁsﬁ#wﬁ)
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30 A child while playing with the flip book was amazed to see that when its

pages are turned in quick succession the images appear to be in motion.
(1) Which principle is responsible for the above observation. Define it.

(1) Mention any one area where this principle is used. (3)

L

TF = o 9% § S v g dwEe snveddfed © T fe ose
W T AW wH F TR W § a9 efadl e fad &t €

(F) ISWH e & fau #=1 w fog@ feer 27 3@ sfonfa #1
(@) &= T o= +1 Ioo@ +1 o=l 39 fagim &1 3@ e s 2

31. Identify and differentiate between the methods of reproduction shown in

given diagrams (a) and (b).

NN )

(a)

(3)

&

fau MU FA@ (a) SN (b) W GEEH W s i (b)

&
o BT

(a)

& @

(b)
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Alternative question for visually impaired students in lieu of Q. 31

32.

In the context of reproduction of species state the main difference between
fission and budding. Also give one example from each.

W WO 31 & W W gfemtun wat % fou dwfas v
yefedl o 9o & Heof # faged ok it & A9 gE s wad) vEw
¥ E-TE IEEw W fg

OR ( a79ar)
Lis_t any three changes that tadpole undergoes to develop into a frog.

fegl a9 ufiEdal #t g=t s9d fogss g 9 dedie, dew o €9 H
fawfad & 2

Height

A
P Q _ R ﬁdulthuufd old

: age
1
!

1 : - L+ Age

0 3 11 18 65 ~ 18

(a) From the human growth curve graph provided, (3)
(i) Identify phase Q and R

(ii) Mention the age for onset of puberty.
(b) State any one factor which influences growth in phase R.
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Alternative question for visually impaired students
(@) Differentiate between autosomes and chromosomes.

(b) How is the sex of a child determined ?

Height
'
P Q R Adulthood Id
ey ﬁﬂoﬁ
o 3 11 18 &5  "®€°

(a) WeA fHuw Tu wFE fowm @% WE ¥,
(i) =001 Q R R & wEgH|
(i) dEF F1 YEAE H W F Ieohd F
(b) F¥ TH HWU Fad W WO R A | w wwfam ww@ #)

Uy W@ 32 & WA W gfeafun oel & fou dwfws wew
(F) oAeErs iR 99 HEEE F A" Fm w¥)
(@) w= @ fon &9 feife fe s @2

in lieu of Q. 32

33. Ram visited a jewelry store to buy a birthday gift for his sister and chose
a gilver chain. He was taken aback by its price. The shopkeeper explained
that the chain was not made of pure silver but was insteaq aluminium ~

coated with silver.

(i) Define the scientific process used here and mention its any one

advantage.
(ii) Draw a well labeled diagram to show the process.
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Alternative question for visually impaired students in lieu of
Q. 33 (ii)

Name the cathode, anode and electrolyte used in the process
™ A 984 % fau SR w1 smr wim F fau @ T &1 gEe
W TSR TF W w9 T 9w s Fad @ s ol gEEER

7 9@ fe =1 g 9 @ 91 o o, afew =i & @y vegdifEn afta
off|

(F) 98 UgH a9 WehH #! qRwifyq #ifs a9 fHd uw @w
F1 Ioi@ Hifeg)

(@) JieFa Fi 9 & fou & =8t @@ 9 @9a fFa T smE Eiftau)
W W@ 33 (i) &% WM W gheartud ol & g dwfars ww
v § 3I9EM fFT W A SYUiE, T SR IeEReEe 1 W 9and)

Section-D (@T-T)

(Q. No. 34 to 36 are long answer questions)

. (a) Classify energy resources on the basis of their availability and
occurrence.

(b) Differentiate between the resources on the basis of their availability.

(¢) Give one example for each of the resources. (5)
(%) S gonE # ST UGS SR HSN % MR W Ffigd H
(@) "anEl & @9 IR UG b YR W SR Fl

(1) yew wanA % fau T IIE S

OR ( 3194T)
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35.

1 f carbon
(@) List different varieties of coal along with its percentage 0
content in them.

(b) State the meaning of ‘petra’ and ‘oleum’ in the word petroleum. '

(F) =it 31 fafes foed w1 g o9 wEA ol & e Hed
gHEg #:i)

(@) wferm = § ‘g’ ol ‘sifeem w1 o G

Rishi, was thrilled to observe a rainbow after a rain shower. He had

never observed a rainbow earlier. He observed beautiful pattern of seven
colours in the rainbow.

(a) Which phenomenon of light is responsible for the formation of
rainbow ?

(b) When do we see a rainbow ?

(¢) Howis it formed ?

(d) Name the band of seven colours observed in the rainbow. (5)

ﬂﬁ,aﬁmﬁﬁ@#ﬂﬁ:ﬂﬁui@ﬁflﬂhﬁ%lmﬁmm
AT T W Al T B T TF AW O % g el w1 srcies
e ‘
(F) mﬁﬂﬂ??ﬁmﬁﬂ"ﬂ#ﬁﬂfm#mﬁﬂﬂm%?
() FE FH A 2?2
(9) AT H W@ W EA W F A woAm

OR ( 3rar)
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Two students X and Y are using one lens each to observe the letters on
a piece of paper. Student X observed bigger and erect letters whereas to
student Y, the letters appeared smaller and erect, through the lens.

On the basis of above information answer the following questions :

(a) Which type of lenses are being used by students X and Y each ?

(b) What is the nature of the image formed by the lenses used by student

Xand Y ?

(c) Draw the respective ray diagrams to show the image formation by
the lens used by student X and Y for the above situation,
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3. (a) Give any three differences between the Cells in slide of onion peel
with that of cells in slide of cheek cells.

(5)

(b) Fill the given spaces (i) and (ii) and explain the relation between all

the levels of organisation in an organism.,
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(a)

(b)
(c)

Give the terms associated with the following parts of a cell :

(i) Boundary of a Nucleus

(ii) Protoplasm of a Nucleus

(iti) Ground substance for all cell activities

(iv) Thread like network in nucleus.

Differentiate Amoeba from an Earthworm. (2 points)

Nerve cell has a long fibre like structure. Give reason.
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